CONJUNCION ( AND )

COMPRA
INICIO
PRODUCTO A COMPRAR
PRODUCTO VIGENTE
IMPRIMA MENSAJE
NO PUEDE COMPRAR 
FIN
PRODUCTO VENCIDO 
PRODUCTO



PRODUCTO>= 1500
AND PRODUCTO=<2000


PUEDE COMPRAR

OPERADORES LOGICOS
MAYOR QUE:		>
MENOR QUE:		<
DIFERENTE:		<>
MAYOR IGUAL:		>=
MENOR IGUAL:		<=









VARIABLES:
PRECIO=COSTO DE PRODUCTO
PRODUCTO=PRODUCTO VIGENTE








[bookmark: _GoBack]DISYUNCION ( OR )

PRECIO
INICIO
PRODUCTO= 1500
OR PRODUCTO=2000


NO PAGA IVA
PRODUCTO VIGENTE
PRODUCTO BUENO
IMPRIMA MENSAJE
PAGA IVA
FIN
PRODUCTO VENCIDO 
PRODUCTO

